














Table 1. An example of an optimized schedule for & 90-km stretch of road

Start (kam) End (km) Activity Shift Time (h)

0.0 14.0 Leave Start 0.47
14.0 24.0 Grade 5.97
24.9 26.5 Leave 6.05
26.5 320 Grade 9.08
32.0 33.0 Leave 9.11
33.0 34.0 Grade 9.66
340 355 Leave 9.71
355 36.0 Grade 9.98
36.0 455 Leave Stop 10.3¢
45.5 50.5 Grade Start 2.75
50.5 53.0 Leave 2.83
53.0 53.5 Grade 3.11
53.5 56.5 Leave 321
56.5 58.0 Grade 4.03
58.0 60.0 Leave 4.10
60.0 61.0 Grade 4.65
61.0 76.0 Leave 495
70.0 72.5 Grade 6.33
72.5 77.0 Leave 6.48
77.0 78.0 Grade 7.03
78.0 82.0 Leave 7.16
82.0 84.5 Grade 8.53
84.5 90.0 Leave Stop 8.72
Total productive time: 19.02
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Table 2. A schedule for the road in Table 1 based on a traditional approach

Start End Activity Shift Time
0.0 18.0 Grade Start/stop 2.9
18.0 36.0 Grade Start/stop 2.9
36.0 54.0 Grade Start/stop 2.9
54.0 72.0 Grade Start/stop 2.9
72.0 90.0 Grade Start/stop 9.9
Total Productive Time: 49.5
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